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1. Because resources are not equally well suited to producing all goods
(A) as more of a good is produced the inputs used to produce that good will
increase in price.
(B) the opportunity costs of producing a good will increase as more of that good is
produced.
(C) the opportunity costs of producing a good will decrease as more of that good
is produced.
(D) as more of a good is produced the quality of that good declines and therefore
the costs of production increase.

2. Ifthe market for blue tooth headsets is unregulated and is presently characterized
by excess demand, you can accurately predict that price will
(A) increase, the quantity demanded will rise, and the quantity supplied will fall.
(B) increase, the quantity demanded will fall, and the quantity supplied will rise.
(C) decrease, the quantity demanded will rise, and the quantity supplied will fall.
(D) decrease, the quantity demanded will fall, and the quantity supplied will rise.

3. Michael can buy either pizzas or submarine sandwiches. If the prices of pizza and
submarine sandwiches double and so does Michael’s money income, we can
deduce that Michael’s budget constraint will
(A) shift in but remain parallel to the old one.

(B) shift out but remain parallel to the old one.
(C) swivel in so that the slope of the budget constraint is doubled.
(D) remain unchanged

4. Ifthe product derived from the last dollar spent on labor is greater than the
product derived from the last dollar spent on capital, then the firm should
(A) make no changes since it is minimizing costs.

(B) increase the price paid to labor and decrease the price paid to capital to
minimize costs.

(C) use less labor and more capital to minimize costs.

(D) use more labor and less capital to minimize costs.
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5. We can derive a firm's total cost curve from its isoquant and isocost curves by
varying
(A) the prices of capital and labor and keeping total expenditure constant.
(B) the production technologies, but keeping input prices and total expenditures
constant.
(C) the price of either capital or labor while keeping total expenditures and the
production technology constant.
(D) total expenditures while keeping input prices and the production technology
constant.

Demand and cost conditions facing Trollio's T-shirts

216 .
515 -

20 50 60 g
Number of silk-screened T-shirts per day

Figure 1.

Refer to Figure 1 above. If Trollio’s T-shirts is in long-run equilibrium it is producing
silk-screened T-shirts and selling each T-shirt at a price of
(A) 20; §5 '

(B) 50; $10
(C) 60; $15
(D) 50; $16
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7. Refer to Figure 2 above. A firm produces hula hoops in a perfectly competitive
market and currently produces and sells 100 per week. Which of the following is

TRUE?

(A) Society would be better off if the firm produced fewer hula hoops because the
firm’s profits would increase if it reduced production.

(B) Because the firm is minimizing ATC, it is producing hula hoops at the efficient
level.

(C) Because ATC is less than price, the firm should devote fewer resources to hula
hoop production.

(D) Society would be better off if the firm produced more hula hoops because
price is greater than marginal cost at the current production level.

8. Samuelson's theory of public expenditure demonstrates that
(A) government is inefficient and will always engage in too much spending.
(B) an efficient mix of public goods is produced when local land/housing prices
and taxes come to reflect consumer preferences.
(C) through government regulation of private industry the optimal level of public
good provision is achieved.
(D) an optimal (or most efficient) level of output exists for every public good.
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You are in the market for a used 2006 Honda Accord. You know that half of the
2006 Accords are lemons and half are peaches. If you could be assured that the
Accord you were buying were a peach, you would be willing to pay up to $10,000.
On the other hand, you would only be willing to pay $2,000 for a lemon. You have
no ability to discern whether any particular Accord is a lemon or a peach. Sellers
of Accords, on the other hand, are likely to know whether their particular car is a
lemon or a peach. Suppose sellers of lemons will sell their cars for $1,500 or more
and peach sellers will be willing to sell their cars for $8,500 or more. If you are
risk neutral, you are willing to offer and are willing to sell
you their car. | '
(A) $2,000 for a car of unknown quality; lemon owners only

(B) $5,000 for a car of unknown quality; lemon owners only

(C)$8,500 for a car of unknown quality; both lemon and peach owners.
(D) $6,000 for a car of unknown quality; lemon owners only

In the market for used motorcycles there are high- and low-quality motorcycles.
Potential buyers cannot determine prior to purchase whether a motorcycle is high-
or low-quality. The following statement that best describes what is likely to
happen in this market is:

(A) The price of a used motorcycle will be very close to the value of a high-
quality motorcycle, which will encourage people to sell high-quality motorcycles.
(B) This is an example of adverse selection, as the buyer will have more
information about the quality of the used motorcycle than the seller will.

(C) Over time the market price of a used motorcycle will increase, as there is more
of an incentive for owners of high-quality motorcycles to sell than owners of low-
quality motorcycles.

(D) The price of a used motorcycle will be between the buyer and seller values for
low-quality motorcycles. This will encourage people to withdraw high-quality
motorcycles from the market
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Demand and cost conditions facing Gwen's Country Curtains

¢ 1,000 ‘MR
Number of curtains per month

Dollars

Figure 3.

11. Refer to Figure 3 above. Gwen's Country Curtains is currently manufacturing and
selling 1,000 pairs of curtains per month. The firm
(A) should reduce the number of pairs of curtains it produces and sells to
maximize profit.
(B) should continue producing and selling 1,000 pairs of curtains; it is already
maximizing profits.
(C) should raise the number of pairs of curtains it produces and sells to max1m1ze

profit.
(D) could increase profits by either increasing or decreasing the number of pairs of

curtains it manufactures and sells.

Demand ang cost conditions for the Chewing Gum Indushy
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Packs of chewing gum in thousands
Figure 4

12. Refer to Figure 4 above. Six firms that produce chewing gum form a cartel. The
cartel faces the market demand curve given by D. To maximize profits, the cartel
should produce packs of chewing gum and the price should be

(A) 12,000; $.25 (B) 12,000; $.40 (C) 14,000; $.30 (D) 16,000; $.35.
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